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Problem quickname: 6165

1)
Quick:
6165

Divide using the long division method. Fill in the blank spaces with the correct
numbers.

a)

5 9 6 6 ÷ 3 8 = 1 5 7
3 8 1·38=38

2 1 6
1 9 0 5·38=190

2 6 6
2 6 6 7·38=266

0

b)

1 5 6 0 ÷ 7 8 = 2 0
1 5 6 2·78=156

0 0
0 0·78=0

0

c)

7 1 0 2 ÷ 6 7 = 1 0 6
6 7 1·67=67

4 0
0 0·67=0

4 0 2
4 0 2 6·67=402

0

d)

4 2 6 6 ÷ 5 4 = 7 9
3 7 8 7·54=378

4 8 6
4 8 6 9·54=486

0

2)
Quick:
6165

Divide using the long division method. Fill in the blank spaces with the correct
numbers.

a)
4 5 5 ÷ 9 6 = 4
3 8 4 4·96=384

7 1 b)

9 5 5 ÷ 7 0 = 1 3
7 0 1·70=70

2 5 5
2 1 0 3·70=210

4 5

c)

4 2 6 ÷ 3 1 = 1 3
3 1 1·31=31

1 1 6
9 3 3·31=93

2 3

d)
2 6 6 ÷ 4 3 = 6
2 5 8 6·43=258

8

3)
Quick:
6165

Divide using the long division method. Fill in the blank spaces with the correct
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numbers.

a)
1 5 8 ÷ 7 9 = 2
1 5 8 2·79=158

0 b)
5 3 1 ÷ 9 2 = 5
4 6 0 5·92=460

7 1

c)
6 4 9 ÷ 8 8 = 7
6 1 6 7·88=616

3 3 d)
3 0 2 ÷ 3 5 = 8
2 8 0 8·35=280

2 2

4)
Quick:
6165

Divide using the long division method. Fill in the blank spaces with the correct
numbers.

a)

4 8 3 8 ÷ 7 0 = 6 9
4 2 0 6·70=420

6 3 8
6 3 0 9·70=630

8

b)

8 4 3 3 ÷ 7 9 = 1 0 6
7 9 1·79=79

5 3
0 0·79=0

5 3 3
4 7 4 6·79=474

5 9

c)

5 4 9 8 ÷ 2 9 = 1 8 9
2 9 1·29=29

2 5 9
2 3 2 8·29=232

2 7 8
2 6 1 9·29=261

1 7

d)

1 1 8 7 ÷ 8 5 = 1 3
8 5 1·85=85

3 3 7
2 5 5 3·85=255

8 2

Good Luck!
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